## CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-41884-659c680162a57

**VERIFY.FTGS.US** Date: January 08, 2024

Port of Loading Transport Type Seller (Exporter) **JFK** Caymaz Group, LLC 32123 Lindero Canyon Road **Destination Country Destination Port** Westlake Village United Arab Emirates DXB CA USA **Export Date Exporting Carrier** Consignee The Giving Movement LLC Import Permit Number Bill of Lading / AWB 8 The Green Suite B Dover, DE 19901 **United States** Forwarding Agent Owner or Agent

Buyer (Importer)

The Giving Movement Trading LLC Office 13-14 Malik Rashid Khalifa Rashid Bilhoul Al Maheri, Al Barsha 1, Dubai, United Arab Emirates

Remarks



Description Weight Country of Origin (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.) Store merchandise being returned to original consignee as event is completed 2100 kg **United Arab Emirates** 



Authorized Signature Farhad Ghorbani Fard

- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: The above-mentioned goods originate in the country(ies) specified above and comply with the rules of
- origin applicable in the country(ies) to those goods.

  The information in this certificate and in any documents provided to the Los Angeles Area Chamber of Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

  -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.

## The Giving Movement LLC

Delaware - USA 8 the green suite B . Zip code 19901

EIN: 37-2090079

## **COMMERCIAL INVOICE**

DATE Commercial Invoice

22-Dec-23 CI-TGM2741

BILL TO

**The Giving Movement Trading LLC**Office 13-14 Malik Rashid Khalifa Rashid Bilhoul Al Maheri, Al Barsha 1, Dubai, United Arab Emirates www.thegivingmovement.com TRN 104034031500003

Style	Description	Total Order Qty	Unit Price (USD)	Total Price (USD)
S1293	Asymmetric Tank	29	10.64	308.56
S366	Batwing Hoodie	30	21.04	631.20
S21CAMO	Camo Recycled Legging 27 inch	18	12.05	216.90
ST28	Cargo Pocket Pant	79	45.53	3,596.87
ST27	Cargo Pocket Shacket	87	45.76	3,981.12
SP09B	Cargo Tote Bag	72	21.16	1,523.52
ST02	Contrast Stripe Track Pant	48	42.02	2,016.96
S1307	Cropped T-Shirt with Prints	35	8.37	292.95
SP06	Distressed T-Shirt	52	22.76	1,183.52
S163	Exaggerated sleeve	70	12.15	850.50
ST24	Gorpcore Panelled Hoody	42	49.71	2,087.82
ST25	Gorpcore Panelled Jogger	46	34.08	1,567.68
S1014	Halter Corset Top	36	13.57	488.52
S179	High Neck Exaggerated sleeve	42	13.31	559.02
S113CLG	Joggers with Collegic Font	48	15.86	761.28
S113R	Joggers- Regular	182	14.58	2,653.56
S1299	Keyhole Bra	17	11.20	190.40
S1127	Mesh Tank	24	11.45	274.80
S107	Oversized Hoodie	187	20.71	3,872.77
S107CLG	Oversized Hoodie with Collegic Font	46	22.51	1,035.46
S40RIB	Oversized Rib Sweatshirt	46	19.78	909.88
ST07	Oversized Varsity Letter Pocket Hoody	78	55.55	4,332.90
S106CAMO	Oversized Zip Camo Hoodie	10	35.44	354.40
S106	Oversized Zip Hoodie	161	21.81	3,511.41
S1214	Recycled Asymmetric Tank- Update	36	9.13	328.68
S159L	Recycled Flared Legging- Long	33	10.31	340.23
S25	Recycled Legging 24 inch	197	9.28	1,828.16
S352	Recycled Long Sleeve Body	31	13.56	420.36
S1334	Recycled Nylon Detachable Slouchy Cargo	17	23.81	404.77
S1333	Recycled Nylon Gorpcore Pants	6	19.16	114.96
S1338	Recycled Nylon Poncho	18	22.41	403.38
S14	Recycled Oversized T Shirt	215	9.81	2,109.15
S14	Recycled Oversized T Shirt	600	9.81	5,886.00
S14CAMO	Recycled Oversized T Shirt Map Print	10	12.72	127.20
ST01	Regular Contrast Stripe Track Zip Top	44	50.63	2,227.72
S861RIB	Rib Bomber	59	24.37	1,437.83
SP07	Shell Mesh Track Jacket	24	67.92	1,630.08
SP08	Shell Mesh Track Pant	24	55.37	1,328.88
ST26	Short Sleeve Pocket Shirt	48	37.77	1,812.96
ST08	Varsity Logo Jogger	71	43.00	3,053.00
S144R	Wide Leg Jogger- Regular	56	18.00	1,008.00
S144RIB	Wide Leg Rib Jogger  Wide Leg Rib Jogger	56	16.55	926.80
21741/10	Hanger	6	1.00	6.00
	Shopping Bag	29	1.00	29.00
	Interpretation of the second o	3065	Total Value	USD62,625.16





v
$\sim$
=
7606
_
()
, C
$\alpha$
_
>
- 1
_
_
α
- 2
_
_
_
π
_ `
_
~
:-
ட
_
1884-659c680162a57/January
680162
$^{\prime}$
V
_
$\overline{}$
_
~
OC.
V
- 47
C
~
0
С
1
- 1
- 1
. 4
884
~
Š
~
u,
_
-
7
- 1
- 1
_
_
_
A-C007-41
-

		S	HIPPER'S	LETTER	OF INST	RUCTION	IS (S	LI) - "MC	DEL"	Pass	word: SLI
1. USPPI N	lame:			3. Freight Lo	ocation Com	pany Name:		5. Fo	orwarding Agent	::	
The Giving N	Movement LLC										
2. USPPI A	ddress Includir	ng Zip Code:		4. Freight Lo	ocation Add	ress (if not b	ox #2)	):			
Delaware	- USA 8 Gree	n Suite B Zip (	Code 19901								
6. USPPI E	IN (IRS) No:	37-209	90079	7. Related	Party Indica	tor (select o	ne):		Related	✓ Non-R	elated
8. USPPI Reference#:			9. Routed Export Transaction (select one):			e):	Yes	☐ No			
10. Ultima	ate Consignee	Name & Addre	ess:	11. Ultimate	e Consignee	Type (select	one):	12. lı	ntermediate Con	signee Name &	Address:
The giving m	novement tradir	ng LLC		☐ Direct Consumer							
1				☐ Government Entity							
Dubai, United Arab Emirates				Reseller							
					er/Unknow						
	of the goods in CFR744.21(f) a						intries	listed in 15 C	FR 744.21(a).	☐ Yes	✓ No
14. State o	` '			-	,	17. In-Bond	l Code	2:		20. TIB / Carn	et?
	ry of Ultimate [	Destination:	United Arab	b Emirates 18. Entry Number:			r:		☐ Yes		
	dous Material:		☐ Ye		0	19. FTZ Ide				□ No	
Weight (kilos)	3,679	Certification	Weight which of the SOLAS	h may be adde VGM regulati	ed to the cont on dated July	ainer tare we	ight an		weight shown in Verified Gross Ma	ass (VGM) under	the Method 2
25.	2		27.	28.	29.	30.	31.		32.	33.	34.
Domestic or		TS Number and Commodity	Quantity in Schedule B /	DDTC Quantity	Shipping Weight	ECCN, EAR99 or	S M	-	nse No., License	Value at the Port of Export	License Value by item (if
Foreign		iption	HTS Units	and DDTC	(in Kilos)	USML	E		Exception Symbol, DDTC Exemption No.,		applicable)
(D/F)		IN/Year, Make,		Unit of		Category	(Y/		C ACM No.		(US Dollars)
		cle Title Number guired		Measure		No.	N)	(	or NLR		
						Text					
35. DDTC A	Applicant Regis	stration Numbe	er:			36. Eligible	Party	Certification	1:	☐ Yes	☐ No
				named forwa	rder to act as				oses of preparing	and filing the Ele	ctronic Export
37 🗸		EI") in accordan under EAR 758.		_		nited States. I	t does	not authorize	the forwarder to	determine licens	se authority or
38. Lcertify						and correct. I	under	stand that civi	l and criminal per	nalties including	forfeiture and
sale, may be		aking false and	fraudulent sta	tements here	in., failing to				n or for violation	_	
39. USPPI I	Email Address:		finance@th	negivingmo	vement.co	40. USPPI 1	Teleph	one No.:	+971 4 29	8 0725	
41 Phinte	d Name of the	Duly authoriz	ed officer or	employee:		Nick Fish	er				
Ž2. Sizert	e:		Sel	An		43. Title:	Chie	ef Operatin	g Officer	44. Date:	27 Dec 2023

Item Description	HS Code	Material Composition	COO	QTY	BOX ID
Asymmetric Tank	61 09 90 00	80% Recycled Polyester 20% Recycled Spandex	UAE		BOX1 - BOX123
Batwing Hoodie	61 10 20 00	60% Organic Cotton 40% Recycled Polyester	UAE		BOX1 - BOX123
Camo Recycled Legging 27 inch	61 03 43 00	80% Recycled Polyester 20% Recycled Spandex	UAE		BOX1 - BOX123
Cargo Pocket Pant	61 04 62 00	100% organic cotton	Turkey		BOX1 - BOX123
Cargo Pocket Shacket	62 06 30 00	100% organic cotton	Turkey		BOX1 - BOX123
Cargo Tote Bag	42 02 22 00	100% organic cotton	Portugal		BOX1 - BOX123
Contrast Stripe Track Pant	61 03 42 00	75% organic cotton + 17% recycled polyester + 8% elastane	Turkey	48	BOX1 - BOX123
Cropped T-Shirt with Prints	61 09 90 00	80% Recycled Polyester 20% Recycled Spandex	UAE	35	BOX1 - BOX123
Distressed T-Shirt	61 09 10 00	50% organic cotton + 50% recycled polyester	Portugal	52	BOX1 - BOX123
Exaggerated sleeve	61 09 90 00	80% Recycled Polyester 20% Recycled Spandex	UAE	70	BOX1 - BOX123
Gorpcore Panelled Hoody	61 10 20 00	60% Organic Cotton 40% Recycled Polyester	Turkey	42	BOX1 - BOX123
Gorpcore Panelled Jogger	61 04 62 00	60% Organic Cotton 40% Recycled Polyester	Turkey	46	BOX1 - BOX123
Halter Corset Top	61 14 30 00	80% Recycled Polyester 20% Recycled Spandex	UAE	36	BOX1 - BOX123
Hanger	44211000	Wood	China	6	BOX1 - BOX123
High Neck Exaggerated sleeve	61 09 90 00	80% Recycled Polyester 20% Recycled Spandex	UAE	42	BOX1 - BOX123
Joggers with Collegic Font	61 04 62 00	60% Organic Cotton 40% Recycled Polyester	UAE	48	BOX1 - BOX123
Joggers- Regular	61 04 62 00	60% Organic Cotton 40% Recycled Polyester	UAE	182	BOX1 - BOX123
Keyhole Bra	61 14 30 00	80% Recycled Polyester 20% Recycled Spandex	UAE	17	BOX1 - BOX123
Mesh Tank	61 14 30 00	80% Recycled Polyester 20% Recycled Spandex	UAE	24	BOX1 - BOX123
Oversized Hoodie	61 10 20 00	60% Organic Cotton 40% Recycled Polyester	UAE	187	BOX1 - BOX123
Oversized Hoodie with Collegic Font	61 10 20 00	60% Organic Cotton 40% Recycled Polyester	UAE	46	BOX1 - BOX123
Oversized Rib Sweatshirt	61 09 10 00	80% organic cotton + 15% recycled polyester + 5% recycled spandex	UAE	46	BOX1 - BOX123
Oversized Varsity Letter Pocket Hoody	61 10 20 00	60% Organic Cotton 40% Recycled Polyester	Turkey	78	BOX1 - BOX123
Oversized Zip Camo Hoodie	61 10 20 00	60% Organic Cotton 40% Recycled Polyester	UAE	10	BOX1 - BOX123
Oversized Zip Hoodie	61 10 20 00	60% Organic Cotton 40% Recycled Polyester	UAE	161	BOX1 - BOX123
Recycled Asymmetric Tank- Update	61 14 30 00	80% Recycled Polyester 20% Recycled Spandex	UAE	36	BOX1 - BOX123
Recycled Flared Legging- Long	61 03 43 00	80% Recycled Polyester 20% Recycled Spandex	UAE	33	BOX1 - BOX123
Recycled Legging 24 inch	61 03 43 00	80% Recycled Polyester 20% Recycled Spandex	UAE	197	BOX1 - BOX123
Recycled Long Sleeve Body	61 09 90 00	80% Recycled Polyester 20% Recycled Spandex	UAE	31	BOX1 - BOX123
Recycled Nylon Detachable Slouchy Cargo	62 04 63 00	100% recycled nylon	UAE	17	BOX1 - BOX123
Recycled Nylon Gorpcore Pants	62 04 63 00	100% recycled nylon	UAE	6	BOX1 - BOX123
Recycled Nylon Poncho	62 04 33 00	100% recycled nylon	UAE	18	BOX1 - BOX123
Recycled Oversized T Shirt	61 09 90 00	80% Recycled Polyester 20% Recycled Spandex	UAE	215	BOX1 - BOX123
Recycled Oversized T Shirt	62 05 30 00	80% Recycled Polyester 20% Recycled Spandex	UAE	600	BOX1 - BOX123
Recycled Oversized T Shirt Map Print	61 09 90 00	80% Recycled Polyester 20% Recycled Spandex	UAE	10	BOX1 - BOX123
Regular Contrast Stripe Track Zip Top	61 14 20 00	75% organic cotton + 17% recycled polyester + 8% elastane	Turkey	44	BOX1 - BOX123
Rib Bomber	61 03 32 00	80% organic cotton + 15% recycled polyester + 5% recycled spandex	UAE	59	BOX1 - BOX123
Shell Mesh Track Jacket	62 04 33 00	100% recycled nylon	Portugal	24	BOX1 - BOX123
Shell Mesh Track Pant	62 04 63 00	100% recycled nylon	Portugal	24	BOX1 - BOX123
Shopping Bag	48194000		China	29	BOX1 - BOX123
Short Sleeve Pocket Shirt	62 06 30 00	100% organic cotton	Turkey	48	BOX1 - BOX123
Varsity Logo Jogger	61 04 62 00	60% Organic Cotton 40% Recycled Polyester	Turkey	71	BOX1 - BOX123
Wide Leg Jogger- Regular	61 04 62 00	60% Organic Cotton 40% Recycled Polyester	UAE	56	BOX1 - BOX123
Wide Leg Rib Jogger	61 03 42 00	80% organic cotton + 15% recycled polyester + 5% recycled spandex	UAE	56	BOX1 - BOX123



